GEOG 2050 – Midterm Exam
Introduction to Physical Geography (R. Adam Dastrup)
True/False
1. Elastic deformation is permanent while ductile deformation is reversible.
2. Stress is the force exerted per unit area, and strain is a material’s response to that force.
3. The largest volcano is a composite volcano and is characterized by broad, low-angle flanks, a small vent or groups of vents at the top, and basaltic magma.
4. The crust and mantle are mostly liquid.
5. Volcanic gases can form toxic and invisible clouds in the atmosphere that could contribute to environmental problems such as acid rain and ozone destruction.
6. There are two types of crust, continental and oceanic crust.
7. A crystal is a solid in which the atoms are arranged in a regular, repeating pattern.
8. Surface mining allows the extraction of ores that are close to Earth’s surface.
9. Earth is a sphere or, more correctly, an oblate spheroid.
10. Cemented, non-organic sediments become bioclastic rocks.
11. Most individuals define geography as a field of study that deals with maps, yet this definition is only partially correct.
12. What makes geography different from other disciplines is its focus on spatial inquiry and analysis.
13. Early Chinese dynasties were the first civilization to practice a form of geography that was more than just map-making or cartography.
14. The first individual to accurately calculate the circumference of the Earth was the Greek geographer Aristotle.
15. The early development of the concepts of geographical latitude and longitude is credited to Ptolemy.
16. Creole languages are stable languages that develop from pidgins.
17. The term for areas where humans permanently settle is ecumene.
18. The total number of live births for every 1,000 people in a given year is called the live birth rate.
19. Currently, about 82 million people are added to the world’s global population every year.
20. The maximum value that a meridian of longitude can have is 180° which is the distance halfway around a circle.

Multiple Choice
21. [bookmark: _Hlk28519991]Which three processes are involved in diastrophism?
a. erosion, weathering, oxidation
b. warping, folding, faulting
c. carbonation, hydrolysis, oxidation
d. broad warping, folding, faulting

22. Geologic folds are layers of rock that are curved or bent by
a. ductile deformation
b. symmetrical folds
c. asymmetrical folds
d. recumbent folds

23. A basin is the ________ of a dome.
a. upper composite
b. outer lining
c. transverse
d. inverse

24. Normal faults move by a ________ motion where the hanging-wall moves _________ relative to the footwall along the dip of the fault.
a. vertical, downward
b. vertical, upward
c. horizontal, downward
d. horizontal, upward

25. Convergent plate boundaries with subduction zones create a particular type of “reverse” fault called a 
a. convergent reverse fault
b. slip-side fault
c. dextral fault
d. Megathrust fault

26. Accumulated sediments harden into rock by a process called
a. lithification
b. metamorphosis
c. compaction
d. All of the answer options

27. Accumulated sediments harden into rock by a process called
a. lithification
b. metamorphosis
c. compaction
d. All of the answer options

28. The length of a day on Earth is 24 hours because:
a. it takes that long to make one complete rotation on its axis
b. rotation and gravity
c. solar impacts
d. rotation parameters

29. Water, wind, ice, and gravity are important forces of
a. erosion
b. chemical weathering
c. deposition
d. None of the above

30. The underwater topography of the ocean floor is known as:
a. oceanography
b. trenches
c. bathymetry
d. abyss

31. There is a technology that exists that can bring together remote sensing data, GPS data points, spatial and non-spatial data, and spatial statistics into a single, dynamic system for analysis.  This is called:
a. GIS
b. Database
c. Remote sensing software
d. Cartography

32. To overcome the potential difficulties involved in image recognition, professional image interpreters use some characteristics to help them identify remotely sensed objects. Some of these characteristics include:
a. Shape
b. Shadow
c. Texture
d. All of the answer options

33. Depicting the Earth’s three-dimensional surface on a two-dimensional map creates a variety of distortions that involve:
a. distance, area, and direction
b. perception
c. acreage
d. view point

34. Absolute location is the exact _____ coordinate on the Earth. 
a. Latitude and longitude
b. X and Y
c. Street Address
d. A and B
e. None of the above

35. An example of a large-scale map is a ________.
a. Choropleth
b. Quad map
c. Standard topographic map
d. Weather map

36. There is a technology that exists that can bring together remote sensing data, GPS data points, spatial and non-spatial data, and spatial statistics into a single, dynamic system for analysis.  This is called:
a. GIS
b. Database
c. Remote sensing software
d. Cartography

37. To overcome the potential difficulties involved in image recognition, professional image interpreters use some characteristics to help them identify remotely sensed objects. Some of these characteristics include:
a. Shape
b. Shadow
c. Texture
d. All of the answer options

38. Depicting the Earth’s three-dimensional surface on a two-dimensional map creates a variety of distortions that involve:
a. distance, area, and direction
b. perception
c. acreage
d. view point

39. Absolute location is the exact _____ coordinate on the Earth. 
a. Latitude and longitude
b. X and Y
c. Street Address
d. A and B
e. None of the above

40. An example of a large-scale map is a ________.
a. Choropleth
b. Quad map
c. [bookmark: _GoBack]Standard topographic map
d. Weather map
e. Atlas
